Course Code: BCOM-23-104

OP JINDAL UNIVERSITY, RAIGARH

END SEMESTER EXAMINATION, JUNE-2023

B.Com. (H) 1% Semester
School of Management [BCOM-23-104]

Business Communication & Correspondence

Time: 3 Hrs. Max. Marks: 100

Note:

Answer any one question from each unit

All questions carry equal marks

| M [ CO | KL
Unit-I (20 marks)
a. | ‘Communication is transmission of ideas and information from one person to o i
another and it’s a circular process.’ Justify the statement.
; b. | What are the principles of effective communication? Explain with reference to ol {
7Cs.
OR
2 a. | What are the various types of Barriers to Communication? Explain each type. 10 1 1
b. | Explain Non-Verbal Communication with its types. 10 1 1
Unit-1II (20 marks)
a. | Why written communication is used for business correspondence? 0 2
3 b What are the various elements of a business letter? Explain each component | 10 4 3
" | with a format. i i
OR
a. | What are the various effective principles of letter writing? Wil 2 1
Write a business letter on the following topic:
Assuming that you are the Purchase Officer of Duro Garments Enterprises,
Hoshipur Road, Rohtak-124003. Place on order for the following items with
4 i the Modern Furniture Mart, Sadar Bazar, New Delhi-110008: 10 5 4
i e Office chairs 20
e Steel almirahs 07
e Wooden tables 15
e Fileracks 23

Unit-1I11I (20 marks)

a. | What are the various elements of a Business Report? 1o 13 1

Write a Precis on the following content:

When we survey our lives and efforts, we soon observe that almost ali of our
actions and desires are bound up with the existence of other human beings. We
4 notice that whole nature resembles that of the social animals. We eat food that
" | others have produced, wear clothes that others have made, live in houses that
others have built. The greater part of our knowledge and beliefs has been
passed on to us by other people though the medium of a language which others
have created. Without language and mental capacities, we would have been




poor indeed comparable to higher animals. We have, therefore, to admit that
we owe our principal knowledge over the least to the fact of living in human
society. The individual, if left alone from birth would remain primitive and
beast like in his thoughts and feelings to a degree that we can hardly imagine.
The individual is what he is and has the significance that he has, not much in
virtue of the individuality, but rather as a member of a great human
community, which directs his material and spiritual existence from the cradle
to grave.

OR

What are the important preparatory steps to writing a business report?

10

Write a Precis on the following content:

English education and English language have done immense goods to India, in
spite of their glaring drawbacks. The notions of democracy and self-
government are the born of English education. Those who fought and died for
mother India’s freedom were nursed in the cradle of English thought and
culture. The West has made a contribution to the East. The history of Europe
has fired the hearts of our leaders. Our struggle for freedom has been inspired
by the struggles for freedom in England, America and France. If our leaders
were ignorant of English and if they had not studied this language, hoix¥ could
they have been inspired by these heroic struggles for freedom in other lands?
English, therefore, did us great good in the past and if properly studied will do
immense good in future. English is spoken throughout the world. For
international contact our commerce and trade, for the developnient of our
practical ideas, for the scientific studies, English-is indispensable “English is
very rich in literature,” our own literature has been made richer by this foreign
language. It will really be a fatal day if we altogether forget Shakespeare,
Milton, Keats and Shaw.

10

Unit-1V (20 marks)

What are the ‘Purpose, Nature and Process’ of Group Discussion?

10

How could you appear in an Interview successfully?

10

OR

What are the required skills to appear in a Group Discussion effectively?

10

What are the various reasons for selection and rejection of a candidate in an
interview?

10

UNIT-V (20 marks)

How can audio-visual aids help to improve the effectiveness of PPT
presentation?

10

Write short notes on ‘Art of Persuasion’ and ‘Just-a-minute Sessions’.

10

OR

10

What are the characteristics of ‘Effective Presentation’?

10

How does Non-Verbal cues ‘Kinesics’ is useful and applicable during
presentation? How can one control ‘nervousness and stage fright’?

10
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Answer one question from each section. All questions carry equal marks.

Section A (Unit-I) ( 20 marks) M | CO | KL

a. | Explain from Ramayan how Sri Ram assessed the strengths and weaknesses of
Lankesh Ravana; and someone exhibited loyalty and integrity. IMU § qHIMY
R & o T 3 i et ) iR R el o o foan SR Y a3 g | 1
IR FAFET 1 wERH )

5 0 B ¢ is the sacrificial arena of the celestial gods. g

aesi &1 afereT 8 B |

| i. Duryodhan listed all warriors in Pandavas’ side except . GaeA A
___ DI BISHR uisal & ug & Tt digreli &) geeg

iii. What was the original name of Bhism? i &7 ga 719 &1 U1 10 1 1

iv. Karn is addressed as Gangaputra. &9 &I T & 919 I Gaifa fasar oar 21
[Correct the sentence]

v. Sankh (the conch) is believed to be the sibling of Godess Lakshmi. 2@ (3fq)
%! ¢dl T&H! BT HIex AT ST | [True/Fale]

OR

Give two examples each from Ramayana and Mahabharata where the words and
promises are kept; and multi-skilled talents are exhibited. IHIU 3R TETHRT &

i Q1-aT IETER I ST, W8T Tred $iR a1e)l a6 favwran Siren 2, 3IR 9g-Fr wfrieh o1 yee i £

frar ST g1

2 i. __ isaddressed as Brukodar. &I g@leR & *U & FaNod bl ST & |

iil. _ isaddressed as Hrishikesh. o gy & w0 & Gaifd frar sar 21

iii. Who seats on the flag of Arjun’s chariot? 391 & U & @9 IR HH I61 82

iv. __ isaddressed as Gudakesha. I Tg1pun & &4 & Gafed frar omar 21

v. Who gave Arjun the thunderous and magnificent bow, Gandiv? 3 BT
A 3R AFER U, Tiea e fam

10 1 1

Section B (Unit-II) ( 20 marks)

Give two examples each from Ramayana and Mahabharata where unethical
a. | people reject ethical advices. IHAU R AETHR & <1-21 ISTe0 ST, Siet o | 10 | 2 2

’ TN A HaTE B SRR P 3 ¥
b _isaddressedasMadhusudan.__aﬁﬂm‘—raﬁmﬁmmmél 10| 1 1







ii. Warriors of Mahabharata battle were both men and women. HEIHRA G &
g1 9o IR Afee G A1 [True/ False]

iii. Janardhan means — a people-caring person / people-troubling person. ST

1 3 BT § - Tl B @IS T aTerT aafarl ey opY RIS aTenT st |
iv. __is known as the Festival of Lights. Y J< % dIgR & ©9 & T 9T 2|
V. __is known as the Festival of Colors. &3 & @8R & U & ST ST R |

OR

What is the definition, architecture, and significance of a temple? T& Hfex Pt
TRUTST, IRIH AT 3R Ao o1 82

10

i. Which are the festivals that signify the Religious Deities? U@ gadrail &
RIMA a1 ARR 9 %? [Write the festivals and corresponding deities]
ii. Badrinath Temple is an abode of TR wTRamwE g
iii. After introduction of the Indian Coinage Act in 1957, one rupee was equal to
100 Paisa. Earlier, 1 Rupee was equal to ___ Annas or Pice. 1957 &
Ry Rigent sifafam 3 Y & a6, T Sar 100 39 F SRR 971 399 T, |
FOUT__ Al U SRR Tl
iv. Write in 2-3 lines about Abhimanyu. 3fmg & aR & 2-3 Ufaaa & fafdu
v. Mention the leadership styles exhibited by Sri Ram in Ramayana. A0 § st
M GRI WA Aga Aol &1 Ieorg HY

10

Section C (Unit-III) ( 20 marks)

What was the context of Ramayana that King Dasarath gave words to Kaikeyi?
RTHTGUI 1 T TR AT S IS G¥RY = bt Y e R Ay

10

i. Which are the festivals celebrated after the seasons? B3l P a1¢ D q ABR
HATY 1 &2

ii. Sun Temple, Konark is located in Kerala. T #feR, ®onds wa & R & [True/
False]

iii. Sri Ram killed to observe Raj Dharma, who was misbehaving Sugreev
and his wife. ot I 3 751 of 1O FA F T w1 9y R, S e ok
I Udll & 1Y gofagR R 8T |

iv. Write 2-3 lines about Karn. %0f & aR # 2-3 tfeat faf@u|

v. What special skills were with Nakul and Sahdev? apd 3R WET & WY I
fasy Prera A2

10

OR

Select any five female characters from Mahabharata ad describe about each of
them in 3-4 lines. FRTHRT & foh=gi utw wfgem Ut &1 g &Y ok 398 A v H R A
3-4 Ufeerdt & qufa ¥

10

i. Which are the festivals that generate Communal Harmony? SiUGIRA® a@
U3 FRA a1 WER A T2
ii. Siddhivinayak Temple is located in city of India. RifGfam s #Afex
YRAP_ IR ARMER
iii. reminded Sri Ram the potential of Naal & Neel to make the rocks

float. 3 ol 1 &l It &1 R 3 e Arer 3R At 1 ey o e el

10







iv. What kind of management decision is learned while choosing Narayan or
Narayani Sena? TR 1 FRIGUR Y1 B Id G0 {59 @R8 &1 Yeiy Fofg drar
T 82

V. Mention the leadership styles exhibited by Sri Krishna in Mahabharata.

HRIHRA # w1 gRT neRid e Aferdl &1 Ieere i

Section D (Unit-IV) ( 20 marks)

Describe why and how the negative roles were played by Manthara in
Ramayana and Sakuni in Mahabharata. IHG0 § HRT 3R TETURT & P gRI
THRIED YD T 3R HY FAHTE 7, 391 9ui7 FfY|

10

i. Which are the festivals that generate the spirit of nationality? JTSTIdT B UTGAT

A B I ABR PH Y 82

ii. Meenakshi Temple is located in the state of India. H1&ft Hfex YR &
T HR@ag

iii. ___ reminded Hanuman about his potential to jump across the 7-seas.
___ ATIHA B 7-99%] B UR A B ISP & & aR B A1¢ e

iv. When did Sri Krishna say that Swadharma is above both Rajdharma and
Pitrudharma and to whom in Mahabharata? i@ 3 &9 $gl {6 @ud qeuRa
7 Zree SR fgend 91 4 SR R iR frwd R

v. Comment in short about the poor team work of Kauravas. ®Rdl & @€ a1
q% S IR 7 94U H Ruoht ¥ |

10

OR

Write the women empowerment done in Ramayana and Mahabharata. I 3R

HETHRd H fbT 7T mfgan wwifdie<u &) fRifdu)

10

i. Human Years are greater than the Divine Years. Aa ¥ faoq au1 9 {19 ¢

[True/ False]

ii. Akshardham Temple is located in city of India. 3f&RY™ HER YRd
b uIRARER

iii. _ dharma allowed Sushein, a Vaidya of Lanka, to do treatment of
Laxman. 4 3 tieb1 & T Je I ) ea10) b1 3ol et 1 Srgafr

iv. advised Dhritrashtra in Mahabharat that Rajdharm is above
Pitrudharm. TR ® 4RIy $1 __ 7 qag & b ored Aged 4 w2

v. Comment in short about the good team work by Sri Ram. 4t 78 gRT o=t e
ah S IR 7 9 H fewh 3

10

Section E (Case Study)-1( 20 marks)

Read the Verses 19-24 taken from the Chapter-1 of Bhagavad Gita with the
given clues. Based on these convesations, describe the context in which that
happend. Describe in your own words (limit your answer to one page). HTag idr
& 31e7g-1 A TG T T 19-24 B Y 0w F T g2 3 qratsft ¥ YR W, I
Hav o1 quf Y i g garm Tl U el # G0 Y (3T ST BN TP YF a9 W
)|

10
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¥ oy Wﬂmﬁmt sa ghosho dhartarashtranam hridayani vyadarayat
T4y YR AT GIMSWTAEAT 11911 nabhasheha prithivim chaiva tumdo abhyanunadayan
-3, Wi |y, iR & il F; geai- gadl @), suaraq-Rdivl sy far: 7.
STeTer; 9o g gl Y, 9.0, vaFaaa €, gue.- A, AT BT

yu safRarren Uﬁfvrqmasﬁm: | atha vyavasthitan drishtva dhartarashtran kapi-dhwajah

me UTUEA: {|20]| pravritte shastra-sampate dhanurudyamya pandavah
G wftad | hrishikesham tada vakyam idam aha mahi-pate

atha—thereupon; vyauasthitn—arrayed; drishtuG—seeing; dhdrtardshirin—Dhritarashtra’s sons

: kapi-dwajah—the monkey bannered; pravritte—about to commence; $hastra-sampiite—touse the
weapons; dhanuh—bow; udyamya—taking up; pandavah—Arjun, the son of Pandu ; hrishikesham—to
Shree Krishna; tadd—at that time; yikyam~words; idam—these; Gha—said; mahi-pate—king

dﬁj:{ 3qrg arjuna uvacha
ﬁ?ﬁ’(?"vlﬁ’tgtﬁ T RITGY ASEA U211 senayor ubhayor madhye ratham sthapaya me ‘chyuta
mﬂm; yavadetan nirikshe ‘ham yoddhu-kaman avasthitan

e 12211 kairmaya saha yoddhavyam asmin rana-samudyame
3 FA-3 3 g, mam%%wm -1, YRR, RG-TST Y, AW, 3ega-ary,
AP WL, Y-S TP; Y- G, PRS- Q@ g8, WS -Gg ® I A
F, - d gna}q UL -, NGOG SEAI: o@ﬂ% %W&? !

QIEHTTHAYSE T TAST YHATAT: | yotsyamanan avekshe 'ham ya ete 'tra samagatah
TR Rrafainda: || 23)  dhartarashtrasya durbuddher yuddhe priya-chikirshavah

yotsyamanan-—those who have come to fight; quekshe aham~I1 desire to see; ye—who; gle—
those; atra—here; samdgatih—assembled; dhartardshirasya—of Dhritarashtra’s son; durbuddheh—
evil-minded; yuddhe—in the fight; priya-chikirshavah—wishingto please

g garg | sanjaya uvacha
%:g: FRF T I YRA| evam ukto hrishikesho gudakeshena bharata
RITRT YU 24 1 senayor ubhayor madhye sthapayitva rathottamam

HST0: JaT9-Hor A gL, TaH-SH USBI; 3o~ ouaw g T, glidrer-afal & @), F; e Rz
aﬁmm%m,ﬁ%mm e S O R A -5
3?!!!!3 |

Read the short story and explain thereof what to learn (or not to learn) —
(in English)

Yudhishthir’s Chariot

On the fifteenth day of the Kurukshetra War, Dronacharya appears set in his
resolve to decimate the Pandava army. Goaded by Duryodhana the previous
night, and blamed for being partial to his favourite pupils, Drona promises that
while he is unable to kill the Pandavas themselves — for they are mighty
warriors — he will see to it that they will be left without an army by the end of
the day.

True to his word, he turns down challenges from all Pandava warriors and
keeps fighting normal soldiers instead, with divine weapons. Something has to
be done.

Bhima kills an elephant by the name Ashwatthama, and bellows into the air,
loud enough for Drona to hear: ‘Ashwatthama is dead! The acharya keeps

fighting, because he does not believe that his heroic son can be killed, and

10







when he chances upon Yudhishthir, he asks him whether it is true. In reply,
Yudhishthir says those famous lines: ‘Ashwatthama hathah hathah’
(Ashwatthama is dead). Then he pauses, as the sound of conches and trumpets
fills the air. Into the noise, he whispers: ‘Kunjaraha’ (The elephant).

As soon as he hears that half-lie, Drona gives up arms and sits down in his
chariot to meditate. Dhrishtadyumna springs out from his chariot with a sword
in hand, holds the acharya by his head, and severs it with one swipe.

At the moment Yudhishthir utters the lie, his chariot, which has always floated
a few inches off the ground due to his spotless virtue, descends to the ground
with a soft thud. Later, after their deaths, Yudhishthir would spend a few
moments in hell as penance for this very act.

One could wonder if it was truly the only lie Yudhishthir ever told. After all, the
Pandavas spent a whole year in Virata’s kingdom in hiding, so they must have
all told lies then. Why was it only this lie that got punished?

Well, context matters. The lies Yudhishthir must have told during the year of
hiding would have been to protect himself and his brothers, after being
wrongfully deceived out of the kingdom that was theirs by right. Whereas on
the fifteenth day of the war, the lie he told was to gain an advantage in the war
by unfair means.

So that one half-lie was more deserving of punishment than all the other lies he
must have uttered during his life.

BIA BRI UG SR Ty b o e & @ i e ) -
(in Hindi)

gl sy

PoEA I& & Uged a7, o ufed 1 &1 A Y & o0 Webeu F R 33 B st
mgﬁmmwfw,ﬁ?mwﬁﬁaﬁmﬁhﬁ%uﬁumw*mmmaﬁ
W,W%MW%WHEW@@WﬁM&%-W%MW%
- T I8 <@ b 13 & ofd d 3= 31 & faen wve Ry s

T a9 & SHFER, I8 T UTSa drgrsll F TR 31 gor 2 oIk ey sRR) ¥
AR AfeT § TS G 8| B o o e ARy

W9 Sy 1 & U &1 &) ORaT &, 3R &a1 H ITAT B, a1 SR & 5 o1 g T

-a{mmqm%rmmm%,m@ﬁmﬁm%mﬁgamm

FDHA1 8, IR v 98 MR W Wl a1 8, 0 a8 I Y @ b a1 78 w9 3| Sae 7,

MR 37 i Gfekrell 1 et & SHariTT BUTe BUTE" (SRITHT TR T 2) | O a8 5

(GsrTmtﬂ)%' HfH G SR GRE B ST 71 F R AR B 1 WK F, 98 pOGE B ‘GHORTET
|




4 s
" e 08k,




TH M1 o DT JAJ B A1V 3RA-Xd AT Y ST Y T Jodx & B 35 o1 5]
YEGIH B1Y B TOaR T 3R 3 & a1eR Froparan €, smard @Y oo RR Q yosar &, iR
U WI5Y ¥ IV 3 R Sl B

Fora efor IR o ieral B, I7eT 2, St M 31 ST qU 3 HRY o @ P TR
Rl 8, T R TSTTSTEE & Y FHIA TR IRl | §1e ¥, I gg & 91e, IR 39
$d & oy U & T H Rep A P g1 Ry

forell @1 simardl €1 Wb @ 5 o g arera W UHHTE 3 U1 o GRIRR F ol et Tl SRR
TSl 3 IR1 U Wt fRTe % 4 § Ryuae faveman o, gaferg 39 Wt 3 a9 g s @
BId 3 SIS B! T ) e

W, Geuf wm TEd 1 U & av & R gRIfR Y S o S 81, 98 |e B 9k o
YTEdl &) g9 F forg B, w61 9= Tad afie A ISy U fear mar o1 S g &
UgEd fT I St g a9 SR i @ g B ATy uTed R T

3T o Ueb 31T 5 37 Tt o T B qo A TS BT i gBER U 5 I T
Stad & SR St g |

51 tesser Known Toles from the Mahobhoroto —By Sharath Komarraju [Source: s harathkomarmraju.com)

OR

Read the Verses 25-31 taken from the Chapter-1 of Bhagavad Gita with the
given clues. Based on these convesations, describe the context in which that
happend. Describe in your own words (limit your answer to one page). HTag Tidl
& -1 T 7TY SANF 19-24 B 3T 70t F T T 3 araisil & SMYR |, 39
T &1 auf ¥ Rorad T8 ganm 310 Teq! # qUFH &R (397 IR Bl TP UF P Wi
)|

qda I bhishma-drona-pramukhatah sarvesham cha mahi-kshitam

3Ty 1l 25§ uvacha partha pashyaitan samavetan kurun iti
aarafarear ard: gy frarrgr1 tatrapashyat sthitan parthah pitrin atha pitamahan
NWWW acharyan matulan bhratrin putran pautran sakhims tatha
HYIES £at n261 shvashuran suhridash chaiva senayor ubhayor api
bhishma—Grandsire Bheeshma; drona—Dronacharys; pramubhatah—in the presence; sarpeshdm—all; cha—and ; mahi-
kshitam—other kings; uvicha~<aid; partha~Ariun, the ?g‘ of Pritha; behgld‘ thngl:’ m %ﬂ
s%wg}g-»dmndants of Kuru; iti—thus; J-987; sovug. 29, Z : s i -

A - WY 1 N sl wY: Srivik o8 @:a@ﬁ Lyt : WA s te
P! #); 9.l ga.fyg ?; Aot %ﬂ%fm‘fg i E}I v

arften | Fr: I tan samikshya sa kaunteyah sarvan bandhun avasthitan
qrarfap) n27iu kripaya parayavishto vishidann idam abravit

Fyuar
;% 34T | ] arjuna uvacha
[ ¥ $071 gy 11 28]] drishtvemam sva-janam krishna yuyutsum samupasthitam
dref~ ww aranfor a9 | sidanti mana gatrani mukham cha parishushyati

a3, oieu-2wa: -3 Pu-pligr, sk wal-wd weR ¥, dyarvag safd &l -
g?f@aa; PUU-EE F, 91 il saf%zstf\-jk?;g}ﬂwm e :;isz B GO, FAH-FE m aan
auiuuah uudcha—~Arjun said; drishiud—on seeing; imam—these; syq-igngm—kinsmen; krishag—Krishna

s iautsum —eager to fight; samupasthitam-present; sidanti—quivering; mamg—my ; gétrdni~limbs; mukham
~mouth; cha—and; parihushyati~is drying up

10







%ﬂrﬁ'} o Jagdy wrad 1290 vepathush cha sharire me roma-harshash cha jayate

f a gaTed 8 uREwa | gandivam sramsate hastat tvak chaiva paridahyate

a9 { wHda T AT 1300 na cha shaknomy avasthatum bhramativa cha me manah
Afrnfra farafrenfsy Fwra) nimittani cha pashyami viparitani keshava

T 9 AQSTURATN § TGS U311 na cha shreyo nupashyami hatva sva-janam ahave

vepathub—shuddering; cha—and; sharire—on the body; me—my; roma-harshah—standing of bodily hair on

end; cha—also; jdyate~is happening; gdndivam-—-Arjun’s bow; sramsate—is slipping; hastdt—from (my) hand; fuak—
skin; cha—and; eva—indeed; paridahyate—is burning all over; na—not; cha—and; Shaknomi—am

able; guasthahn-—remain steady; blramati {va—whirling like; gha—and; me—my; manah--mind; nimittgni—
omens; cha—and; pashyami—1 see; piparitani—misfortune; keshavg—Shree Krishna, killer of the Keshi demon; ng—
not; cha—also; shreyah—good; anupashudmi—1 foresee; hatug—from killing; sva-janam--kinsmen; dhave—in battle

'Read the short story and explain thereof what to learn (or not to learn) —
(in English)

Parashuram Kills the Kshatriyas

Parashurama is one of those all-encompassing characters of Indian mythology.
He is everywhere and anywhere. Be it the Ramayana, the Mahabharata or the
Puranas, he is sometimes the hero, sometimes the villain, sometimes the
benevolent saviour of the distressed damsel (like in the story of Amba), and
sometimes the furious young man.

Though a Brahmin by birth and raising, by temperament Parashurama had
always been a Kshatriya — quick to anger, vengeful, and bound by bonds of
loyalty, love and prestige that fit better on a king than on a detached Brahmin.

When his parents are killed by the king Kartavirya Arjuna, he of the thousand
arms, Parashurama picks up an axe and sets out on a sojourn of revenge and
bloodlust. Not only does he resolve to kill Kartavirya Arjuna, he also takes an
oath to cleanse the Earth of Kshatriya blood once and for all.

The story of how he kills Kartavirya Arjuna is legend (by cutting off each of the
king’s arms at a time), but what happens later is even more interesting. Every
time he decimates the Kshatriya race, they spring up again, as though by magic.
Each time he kills them and hangs up his axe, in a few years they reappear,
forcing him to set out once again.

It is said that he killed the Kshatriyas twenty one times, and after that he just
got tired and gave up.

This is because the Kshatriya race, through a birthing process called niyoga,
measured itself through the line of the mother. Like in the case of Kunti and
Madri, who had sons in spite of Pandu’s impotence, there were many queens
who were widowed by Parashurama’s actions but then had children off other
men to continue their lineage. And these children were known by their father’s
names, though they were biologically unrelated.

So if Parashurama truly wished to get rid of the Kshatriyas, he would have done
well to kill the women too. But then, his Kshatriya leanings would not allow him
to attack a woman (unless ordered by his father to do so, in which case he
would kill his mother too. But that’s quite another story).
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(in Hindi)
TR U STIy HIA &

WRIRTH HR1a GRIO® FHU13fi & I Fdeardt ol & ¥ Ua 1 98 &R o8 oIk Pt ot 2
918 d8 WY §l, HETHRA &1 a1 10T, 98 P} A1 git 8, Ft W g 8, B
fI ST BT TRITPRI IERS (S T P HeT H) BXar 8, iR FH U gaw |

S W ST §1H & STaoG, WHE I IR g3 T &30 & - 1y S 9, el ok
wﬁn&ﬁwﬁm&émﬁaﬁ@%ﬁwmmaﬁwﬁwuﬁwﬁw
l
W IHE [T BV IS PIAArd T gRT AR a1 Wi B, @ 98 g9R yed aren
mwm@m%mmsﬁ?m$ummﬁmm%m€qm
35 1 AR 1 Heped Bl 2, Sfeh I8 T &R 3R Fait & Riw arfiva o 9t geadt
1 S B B 0y W AR

T8 PRI 31 ) B AR 3, TS| B RIS Bl 8 (T THa 3 I F U YT
@I BIC IR), AP a1¢ T ol g1 € I8 3R W feera™y 1 & aR o9 98 &g Wiy &) @
PR &A1, A R A 377 31l &, S b oG | 8% R o1 78 I ARAT § IR 0 peard
TEH! &A1 8, A H© N & I fIR J yove B €, R I8 1@ IR R TR Fiees & R
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Course Code: 02UG020

OP JINDAL UNIVERSITY, RAIGARH

END SEMESTER BACK LOG EXAMINATION, DECEMBER-2023

BCOM 1* Semester

Business Law & Legal Drafting [ BCOM-102]

Time: 3 Hrs.

Max. Marks: 100

Note:

Answer any one question from each unit

All questions carry equal marks

‘M | CO | KL
Unit-I ( 20 marks)
Define Contract. What are the essentials elements of a valid contract 10 CO | KL
1 1
1 Difference between contract and agreement 10 CO | KL
1 2
OR
What do you mean by breach of contract? Explain remedies for breach 10 CO | KL
2 of contract 1 1
Difference between Indemnity and Guarantee ‘1 0 CO | KL
1 2
Unit-II (20 marks)
Difference between condition and warranty 10 CO | KL
2 2
3 Define sale under sale of goods act? Explain the formation of contract 10 CO | KL
of sale of goods 2 2
OR
Who is unpaid seller? What are the rights of unpaid seller 10 CO | KL
2 3
y Difference between sale and Agreement to Sale 10 CO | KL
2 2
Unit-III (20 marks)
Define Partnership. Explain the procedure of registration of partnership 10 o | KL
3 1
: Explain the rights and duties of partners 10 CO | KL
3 &
OR
Define Limited Liability Partnership. Explain the characteristics of LLP 10 oo ' KL
3 3
¥ Difference between Partnership and Limited Liability Partnership 10 CO | KL
3 2
Unit-1V (20 marks)
5 Define Consumer. Explain the rights of consumer under consumer 10 CO | KL
protection act 4 1
Explain the objectives of IT act 2008 10 | CO | KL




&

i




OR
Difference between District forum, State commission and National 10 CO | KL
g commission 4 2
Explain different sections of IT act related to crime and their penalty 10 CO | KL
4 3
UNIT-V (20 marks) |
Define Negotiable Instruments. Explain characteristics of 10 CO | KL
9 Promissory note 5 1
Define Cheque . Explain different types of cheques f 10 CO | KL
5 Pl
OR
What are the penalties in case of dishonor of cheques 10 CO | KL
5 3
v Define bill of exchange. Explain its characteristics 10 CO | KL
5 2
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Course Code: BCOM-23-101

OP JINDAL UNIVERSITY, RAIGARH

END SEMESTER EXAMINATION, JANUARY-2023

B.COM I Semester
School of Management

Financial Accounting [BCOM-23-101]

Time: 3 Hrs.

Max. Marks: 100

Note:
Answer any one question from each unit
All questions carry equal marks
M| CO | KL
Unit-I (20 marks)
a. | Write shorts on following concept of Accounting (Any Five) -
1. Money Measurement Concept
2. Accrual Concept
3. Matching concept
4. Going Concern Concept WSO
5. Dual aspect concept
1 6. Entity Concept
7. Periodicity Concept
b. | Write short notes on (Any Two) —
1. GAAP
2. IFRS
3. Cash Book b il
4. Trail Balance
5. Book Keeping
OR
Transactions of Ramesh for April are given below journalese them —
April |1 Ramesh started business with Cash 10,00,000
April |3 Bought goods for cash 50,000
April |5 Drew cash from bank 10,000
April | 13 | Sold to Krishna goods on credit 1,50,000
April | 20 | Brought from Shyam goods on Credit 2,25,000
) April | 24 | Received from Krishna 1,45,000
a. April Allowed him discount 5,000 | | 10 | CO1 | KL2
April | 28 | Paid Shyam cash 2,15,000
April Discount allowed 10,000
April | 30 | Cash sales for the month 8,00,000
April Paid Rent 50,000
Paid Salary 1,00,000




[
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Journalize the following transactions, post them in the ledger and prepare
Trail balances on 31* December.

1. X Started business with a capital of 20,000.
2. He purchased goods from Y on credit 24,000.
3. He Paid cashto Y % 2000.
4. He sold goods to Z %4,000. 10 | CO1 | KL2
5. He received cash from Z 2 6,000
6. He further purchased goods from Y 34,000
7. He paid cash to Y % 2,000
8. He further sold goods to Z 4,000
9. He received cash from Z % 2,000
Unit-II (20 marks)
Discuss on the importance of Bank Reconciliation Statement (BRS). 10 | CO2 | KL1
Describe the any two methods of Depreciation. 10 | CO2 | KL2
OR
Jain Bros. acquired a machine on 1st July, 2021 as a cost of 14,00,000 and
spent Z1,00,000 on its installation. The firm writes off depreciation at 10$
p.a. every year. The books are closed on 31% December every year. 10 | CO2 | KL3
Show the Machinery Account on diminishing balance method for the year
2021 and 2022.
From the following particulars, prepare a Bank Reconciliation Statement for
Jindal offset Ltd.
1. Balance as per case book is 22,40,000
2. Cheques issued but not presented in the book of amounts to % 1,36,000
3. Cheques deposited in bank but not yet cleared amount to 290,000 ik Ko
4. Bank charges amounts to 300
5. [Interest credited by bank amounts to 21,250
6. The balance as per pass book is ¥ 2,86,,950
Unit-III (20 marks)
Define the following terms-
a. Capital and Revenue Expenditures
b. Cap!tal and Revenue Transactions 10 | co3 | kL3
c. Capital and Revenue Income
d. Capital and Revenue Profits
e. Capital and Revenue Loses
State the Final Account of Sole Proprietors. 10 | CO3 | KL2
OR
State with reasons whether the following are Capital or Revenue
Expenditure:
1. Expenses incurred in connection with obtaining a license for
starting the factory for 10,000.
2. %1,000 paid for removal of Inventory to a new site.
3. Rings and Pistons of an engine were changed at a cost of 5000 to 10 cos | kL3

get fuel efficiency.

4. Money paid to Mananagar Telephone Nigam Ltd. (MTNL) Z8,000
for installing telephone in the office.

5. A factory shed was constructed at a cost of Z1,00,000. A Sum of
25,000 had been incurred in the construction of temporary huts for
storing building material.







Given below Trial Balance if M/s Dayal Bros. as on 31* March 2022:

Particulars Debit Balances Credit Balances
4 e
Capital A/c 7,00,000
Land and Building 3,00,000
14% Term Loan ’ 4,00,000
Loan from M/s. D & Co. 4,60,000
Trade receivables 4,20,000
Case in hand 20,000
Inventories in Trade 6,00,000 10 | CO3 | KL3
Furniture 2,00,000
Trade Payables 40,000
Advance to Suppliers 1,00,000
Net Profit 1,00,000
Drawings 60,000
17,00,000 17,00,000
Prepare Balance Sheet as on 31% March, 2022.
Unit-IV (20 marks)
Write short note on-
1. Receipt and Payment Account 10 | CO1 | KL1
2. Income and Expenditure Account
Distingue the Receipts & Payment Account and Income and Expenditure 10| co2 | kL1
Account.
OR
Following is the receipts and Payment Account of New ‘bird” Forty Club for
the year ended 31* March, 2022.
Receipts and Payment A/c for the year ended on 31 March 2022
Receipts Amount Payment Amount
Q® Q®)
To Balance b/d 2,50,000 | By Salaries and wages 1,65,000
To Subscription By Office expenses 35,000
2020-2021 65,000 | By Sports equipment 3,42,000
2021-2022 3,55,000 | By Telephone Charges 28,000
To Donation 55,000 | By Electricity charges 32,000
To Entrance fees 85,000 | By Travelling and 65,000 | | 10| cO2 | K12
conveyance
By Balance c¢/d 1,43,000
8,10,000 8,10,000
Additional information:
a. Outstanding subscriptions for the year ended 31 March, 2022 - Z 55,000.
b. Outstanding salaries and wages - ¥ 40,000 for the year ended on 31% March
2022,
c. Depreciation equipment by 25% for the year ended on 31t March 2022.
d. Capitalize 50% of the entrance fees
Prepare Income and Expenditure Account of the club from the above particulars for
the year ended on 315 March 2022.
Describe the format of —
1. Receipts and Payment Account 10 | CO3 | KL2

2. Income and Expenditure Account







UNIT-V (20 marks)

A and B start business on 1* January, 2022 with capitals of 230,000 and 2
20,000. According to the Partnership Deed, B is entitled to salary of % 500
per month and interest is to be allowed on capital at 6% per annum. The
remaining profits are to be distributed among the partners in the ratio of 5:3
During 2022 the firm earned a profit, before charging salary to B and interest
on the capital amounting to % 25,000. During the year A withdrew 8,000
and Ba withdrew Z 10,000 for domestic purpose.

10

CO2

KL2

A, B and C are the partners in a firm sharing profits and losses in the ratio of
2:3:5. Their fixed capital were 15,00,000, Z30,00,000 and %60,00,000
respectively. For the year 2022 interest on capital was credited to them @
12% instead of 10%. Pass the necessary adjustment entry.

10

CO3

KL2

OR

10

Why partnership required in the Business? Write the definition of
partnership with its features.

10

COo2

KL2

Discuss on the Advantages and Challenges of Limited Liability
Partnership.

10

CO3

KL2







Course Code: 02UG020

OP JINDAL UNIVERSITY, RAIGARH

END SEMESTER EXAMINATION, December-2023

BCOM 1% Sem
SOM

Business Mathematics (B. Com-23 103)

Time: 3 Hrs.

Max. Marks: 100

Note: Answer any one question from each unit.

All questions carry equal marks.

| M | CO | KL
Unit-I (20 marks)
Solve the quadratic equation 2x3+ x — 300 = 0 using factorization. 10 11 11
In a scout camp, there is food provision for 300 cadets for 42 days. If 50 more persons join the
] A 10 II III
camp, for how many days will the provision last?
OR
According to the survey made among 200 students, 140 students like cold drinks, 120 students
like milkshakes and 80 like both. How many students like at least one of the drinks? 10 I 11
A number is decreased by 10% and then increased by 10%. The number so obtained is 10 less
than the original number. What was the original number? 10 I 1
Unit-II (20 marks)
A postman traveled from his post office to a village in order to distribute mail. He started on
his bicycle from the post office at a speed of 25 km/hr. But, when he was about to return, a
thief stole his bicycle. As a result, he had to walk back to the post office on foot at the speed of | 10 11 11
4 km/hr. If the traveling part of his day lasted for 2 hours and 54 minutes, find the distance
between the post office and the village.
For a student to clear an examination, he must score 55% marks. If he gets 120 and fails by 78
marks, what is the total marks for the examination? 10 II 11
OR
Calculate the inverse of the matrix
[2 : ""6} 10| I | II
A=|7 3 5
1 -2 4
What are the types of matrix? Construct 3*3 matrix whose elements are given by Aij=2i-3j. 10 I I1
Unit-I1I (20 marks)
The demand function of company is p = 42 -0.001 x and cost function is C(x) = 30x +1200,
where x is the number of units demanded.
i. Find the profit function W al III
ii. Find the marginal profit Function
iii Calculate the profit for 1000 units
Find the points of local max or local min of the function f(x)=(x-1) (x+2) 2. Find also local max
& min values. 10| IV III
OR
A company produces and sells a product and fixed costs of the company are Rs. 6,000 and
variable cost is Rs. 25 per unit, and sells the product at Rs. 50 per unit. i. Find the total cost
function. ii. Find the total revenue function. iii. Find the profit function, and determine the | 10 III II
profit when 1000 units are sold. Iv. How many units have to be produced and sold to yield a
profit of Rs. 10,000?
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Assume that fixed costs is Rs. 850, variable cost per item is Rs. 45, and selling price per unit
is Rs. 65. Write,

i. Cost function 10 | III II
ii. Revenue function
iii. Profit function
Unit-IV (20 marks)
Find the derivative, if f(x)=(10x3+5x2-7) (7x+x3)? 10 | III 111
7 Find the derivative, if f(x)= 10x%3x? 10 | IV | 1II
OR
Find the derivative, if f(x)=(Vx+2x+8x2) 10 | II I
8 Find the derivative, if f(x)=(5x+7)/(3x+2) 10 I 111
UNIT-V (20 marks)
What is the value of | (8 x*+Vx) dx? 10 | III 111
The population of a place increased to 54,000 in 2003 at a rate of 5% per annum.
9 (i) Find the population in 2001. 10 | IV III
(ii) What would be its population in 2005?
OR
Solve the linear equations with 3 variables using Cramer’s rule. x + 4y + 3z =
10 | IV III
10 2.2k~ 6y+oz=-3, 58 ~dv+3z=~5
Find the compound interest on Rs. 8000 at 15% per annum for 2 years 4 months, compounded 10 | 1 1

annually.
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Course Code: BCOM 103
-O P JINDAL UNIVERSITY

B.Com-I Semester Backlog Examinations January-2024

Business Mathematics

(Offered to B.Com)

Time: 3 Hrs. Max. Marks: 100

Answer any one question from each unit

All questions carry equal marks

| M | CO [ KL
Unit-1
a. | Explain different types of set and basic operations with suitable examples 10.]1 CO1 | K2
b The roots of the equation 2X°— 3X + 4 are P and Q. what will be the equation 10 | coz | k3
" | whose roots are P/Qand Q/P
OR
Use the Venn diagram to find the following sets.
T
a. 10 | CO1 | K3
20
i) T-C i) C-T iii) TUC iv) TNC v) (TuC)’
b. | Write the differences between integration and differentiation. 0 1Co3 | K2
Unit-11
The population of the town is 15,200 which was increased by 10% then find
& | the population of the men. If the ratio of the men and women were 3:2? k| St e
(i) Duplicate ratio, Triplicate ratio, Sub duplicate and sub triplicate ratio.
bl L . : 7 leos | ks
(i1) Two numbers are in the ration of 5:6. If 21 is subtracted from each of two | 5
numbers they become in the ration of 2:3. Find the number
OR
A shopkeeper marks the price of his goods 10% higher than its original price.
& | After that, he allows a discount of 10%. What is his percentage profit or loss ? 6 S Al
A travel agent surveyed 100 people to find out how many of them had visited
the cities of Melbourne and Brisbane. Thirty-one people had visited
b Melbourne, 26 people had been to Brisbane, and 12 people had visited both | 2.5 L
" | cities. Draw a Venn diagram to find the number of people who had visited: *4
a) Melbourne or Brisbaneb) Brisbane but not Melbourne
c) Only one of the two citiesd) Neither city.
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Unit-I11

Explain any 5 types of Matrix with suitable example. 10 | CO1 | K1
Show whether it is singular matrix or not
5 ) 1=y "3
[ g 10 | Co4 | K3
I R
OR
What do you mean by singular matrix? Describe the elementary rows | 3+ co1 | x1
operations with examples? 7
¢ 90x + 100y +20z = 800 ; 130x + 50y + 40z = 900 ; 60x + 100y + 30z = 850 10 | coa | k3
Find x y and z
Unit-1V
Find the local maxima and local minima for the given function and also find
the local maximum and local minimum value 10 | CO3 | K3
7 Fx)=2X’ -6X*+6X+5
List out the various formulas for differentiation and Integration. 55+ coz2 | k1
OR
If the cost function is as follows:
C(x) =x’ + 6x*+ 7 Then find the MC, AC, VC, FC, and MAC PR e
8 Explain any 5 terms with mathematical expressions: TC, TR, AC, MC, AVC,
10 | CO2 | K1
FC and MR
UNIT-V
Find the values of x, Y, Z and w which satisfy the matrix equation
XxX—y 2x+z gl 5 CO1 | K2
9 [Zx—-y 32+w] :[0 13]
Verify Euler’s theorem when f(x,y) = x" + x°y* +y” 10 | co3 | K3
OR
Explain the following Terms: i) Simple Interest, ii) Compound Interest iii)
Annuity iv) Depreciation 10 | €Oz | Kl
10 A student has 4 places where he can eat lunch. The college canteen charges rs.
8 for dosa, rs 3 for French fries and rs.5 for a soft drink. The campus coffee
house charges rs.10 for dosa, rs 2 for French fries and rs. 4.50 for a soft drink. Yo Gt

A fast food place charges rs. 8 for dosa, rs 4 for French fries and rs.5 for a soft
drink. A nearby restaurant serves dosa for rs. 12 friench fries for rs. 5 and free
soft drink for any order.
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OP JINDAL UNIVERSITY, RAIGARH

Course Code: B.COM 101

END SEMESTER EXAMINATION, DECEMBER-2023 (BACKLOG)

Program Code- 02UG020

SCHOOL OF MANAGEMENT

FINANCIAL ACCOUNTING-1

Time: 3 Hrs.

Max. Marks: 100

Note:

Answer any one question from each unit

All questions carry equal marks

| M [ CO | KL

Unit-I (20 marks)

Define Accounting and explain accounting principles.

10 1 1

Define Accounting standards and IFRS. Write the objectives of IFRS.

10 1 1

OR

Give an account of internal and external users of accounting.

10 1 1

Explain the meaning and objectives of accounting.

10 1 1

Unit-II (20 marks)

On 1* April 2005, a firm purchased a machinery for 1,50,000 and incurred
10,000 on its installation. On 1%t July 2007 it purchased machine costing
1,00,000. On 1% October, 2008 the machinery purchased on 1%t January 2005
was sold off for 1,02,000 and on the same date a new machinery was purchased
for 3,00,000. Depreciation is provided at 10% on WDV.

Prepare machinery account for 4 years.

12 | 4 3

Explain the meaning and causes of depreciation.

OR

Prepare Bank reconciliation statement:

Balance as per pass.book 150000

Dividend collected by the bank 15000

Cheques dishonored 20000

Rebate on bills retired 2000

A customer made payment directly to the bank 25000
Insurance premium paid by the bank 6750

Interest allowed by bank 1250

Cheques deposited but not yet presented for payment 35000
Charges collected by bank 1000

A wrong posting on the debit side of the passbook 5000

10 | 4 3

Explain the meaning of BRS. What are the reasons for difference in bank book
and pass book?

10 | 4 1

Unit-1II ( 20 marks)

Correct the following trial balance:
Trial Balance
As on 31° March 2021

1303 3




<




Name of the account Debit Balance | Credit Balance
Bank overdraft 2000
Carriage inward 4000
Carriage Outward 8000
Cash balance 12000
Closing Stock 8000
Commission Earned 22000
Creditors 2000
Debtors 1200
Discount received 800
Establishment expenses 20000
Interest on Investment 10000
Loan payable 8000
Machinery 12000
Manufacturing expenses 44000
Owner’s equity 28000
Purchase returns 14000
Purchases 14000
Sales 14000
Sales return 8000
Wages 8000
1,20,000 1,20,000
Distinguish between capital and revenue expenditure. 5
OR
Define Final Accounts and explain its objectives. 10
Write the adjusting entries for the following adjustments:
1. Bad debts
2. Prepaid expenses
; { 10
3. Managerial remuneration
4. Provision for discount on debtors
5. Outstanding expenses
Unit-IV (20 marks)
Distinguish between:
1. Receipt & payment Account Vs. Income & Expenditure Account 10
2. Income & Expenditure Account Vs. Profit & Loss Account
Explain the modes of dissolution of a partnership firm. 10
OR
Write short notes on:
1. Piecemeal Distribution 10
2. Valuation of Goodwill
On 1st April, 2010 Sahil and Charu entered into partnership for sharing profits
in the ratio of 4 : 3. They admitted Tanu as a new partner on 1st April, 2012 | 10

for 15th share which she acquired equally from Sahil and Charu. Sahil, Charu




0




and Tanu earned profits at a higher rate than the normal rate of return for the
year ended 31st March, 2013. Therefore, they decided to expand their
business. To meet the requirements of additional capital they admitted Puneet
as a new partner on 1st April, 2013 for 17th share in profits which he acquired
from Sahil and Charu in 7:3 ratio.

Calculate:

() New profit sharing ratio of Sahil, Charu and TanuTor the year 2012-13.
(i) New profit sharing ratio of Sahil, Charu, Tanu and Puneet on Puneet's
admission.

UNIT-V (20 marks)

Distinguish between equity shares and preference shares.

10

Lion Itd. issued for public subscription 20000 equity shares of Rs. 10 each at
par payable Rs. 2 per share on application, Rs. 3 per share on allotment and the
balance in two calls of equal amount. Applications were received for 30000
shares. The shares were allotted pro-rata to the applicants for 24000 shares, the
remaining applications being rejected. Money overpaid on application was
utilized towards sum due on allotment. All money due were received except
that a shareholder named Bimla to whom 1000 shares were allotted failed to
pay both the calls. These shares were forfeited and subsequently re-issued to
Prem at Rs. 11 per share as fully paid up. Show journal entries in the book of
company.

10

OR

10

Draw a proforma of Balance Sheet of a company along with its contents
according to schedule III of the companies’ act 2013.

15

Give a brief explanation of current liabilities as per schedule III of the
Companies act 2013.







Course Code: 02UG020

OP JINDAL UNIVERSITY, RAIGARH

END SEMESTER EXAMINATION, DECEMBER-2023

BCOM 1* Semester

Business law [BCOM-23- 102]

Time: 3 Hrs.

Max. Marks: 100

Note:

Answer any one question from each unit

All questions carry equal marks

M | CO | KL
Unit-I (20 marks)
Define discharge of contract. What are the modes of discharge of contract 10 CO | KL
1 1
: Difference between Indemnity and Guarantee 10 CO L K1
1 2
OR
Define Contract . Explain Essential element of valid Contract 10 CO | KL
) 1 1
Difference between contract and agreement 10 CO | KL
1 2
Unit-IT ( 20 marks)
Who is unpaid seller? What are the rights of unpaid seller 10 CO | KL
2 2
: Difference between sale and Agreement to Sale 10 CO | KL
2 2
OR
Difference between condition and warranty 10 CO | KL
2 2
4 Define sale under sale of goods act? Explain the formation of contract of sale 10 CO | KL
of goods 2 3
Unit-IIT ( 20 marks)
Define Limited Liability Partnership. Explain the characteristics of LLP 10 Lo UKL
3 1
? Difference between Partnership and Limited Liability Partnership 10 CcO KL
3 2
OR
Define Partnership. Explain formation of partnership 10 CO | KL
; 3 3
* Explain the procedure of registration of partnership 10 CO | KL
3 2
Unit-1V (20 marks)
7 Define Company. Explain features of company 10 CO | KL
4 2
Difference between Memorandum of Association and Article of Association 10 CO | KL
4 2
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OR

Explain one person company CO | KL
1 4 2
# Explain Statutory company and Registered company with example 10 CO | KL
4 1
UNIT-V (20 marks)
Difference between District forum, State commission and National commission 10 CO | KL
5 2
’ Explain different sections of IT act related to crime and their penalty 10 CO | KL
5 3
OR
Define Consumer. Explain the rights of consumer under consumer protection 10 CcO | KL
10 act 5 1
Explain the objectives of IT act 2008 10 CO | KL
- -
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Course Code: BCOM-B-105

O P JINDAL UNIVERSITY

END SEMESTER EXAMINATION, DECEMBER-2023

B.COM. (H)-I Semester [Programme Code-02UG020]

Subject- Business Correspondence and Report Writing

SCHOOL OF MANAGEMENT

Time: 3 Hrs.

Max. Marks: 100

Answer any one question from each unit

All questions carry equal marks

|M | CO | KL
Unit-I (20 Marks)
: FEVAEIBI 1 - g
.Whaf do y'ou mean by Marginal Listening? Discuss the Steps to improve 10 | co1 | k1
listening skill.
What do you mean by Diagonal Communication in an organisation? Discuss
; ! : Al 101 COL | K2
the Merits and Demerits of Diagonal Communication.
OR
What do you mean by Semantic Barriers to Communication? What steps can
! ; 10 | CO1 | K2
be taken to overcome Semantic Barriers?
What do you mean by Barriers to Listening? Explain how barriers to
e {0 G 10 | CO1 | K2
listening affect the proper functioning of an organisation.
: Unit-1I ( 20 Marks)
What do you mean by ‘Meeting’? Discuss the TERMS related to the meeting. | 10 | CO2 | K1
3 2 * :) . .
What' do you mean by ‘Agenda’ of a meeting? Write the role of members in a 10 | coz | k2
Meeting.
OR
Send a quotation on behalf of- M/s Focus Enterprises, Industrial Estate,
Raipur, Chhattisgarh to the Chairman, Sapthagiri Education Trust, Main Cross
Building, Chennai (TN) for the following items:
Interactive Display Board-30, 5
Steel Almirahs-50, i il i il g
PA Systems -30,
File Racks-100.
(Invent the necessary details regarding their size, shape, colour etc.)
Define ‘Tender Notice’? Discuss the Content of a Tender Notice with example. 10 | co2 | k3
Unit-IIT ( 20 Marks)
As the Administrative Officer, you have been asked by General Manager, SK
Steels Limited, Raigarh to investigate the accident caused by Gas Cylinder | 12 | CO3 | K2
blast in the Officers’ Mess on 15" December 2023. Write a brief report paying




special attention to the causes and extent of damage along with suggesting
preventive measures. (Invent necessary details and data.)

What do you mean by ‘Management Plan’ of a Proposal? Discuss the

Characteristics of a business proposals. A e e
OR
What do you mean by Solicited Proposal? Discuss the Structure of a Business 10l cos | k2
6 Proposal.
What do you mean by FRONTIS PIECE of a report? Discuss the Back Matter 10l cosl k3
of a Report with examples.
Unit-IV ( 20 Marks)
What are. the ijectlves of a Group Discussion? Explain the pre-requisites of 10| cos |l k2
Group Discussion.
Write a short note on the following:
7 1 Exit Interview .
11 Background .Interv1ew 10| cos | k2
iil. Stress Interview
iv. Persuasive Interview
V. Unstructured Interview
OR
What are the various roles a candidate can play during Group Discussion?
g : : 10 | CO4 | K2
Discuss the benefits of Group Discussion.
o What are the Objectives of Interview? Enumerate the important preparations 10 | cos | k2
you will make before appearing for a job interview?
UNIT-V( 20 Marks)
What do .you mean by Team Presentation? Discuss the SW’s of planning a 10 | cos | k2
9 presentation.
Discuss in detail the potential difficulties of using technical aids when making 10 | cos | k3
a presentation in various public speaking contexts.
: OR
Discuss the Attributes and Qualities of a Good Speaker. 101 €05 | K2
o How to design an Effective Power Point Presentation? Discuss with example. | 10 | CO5 | K3




